EARAROBEEIERT — 2 N— IBISH —F

201853A6H () 18EIEHI3H

W £k E AR C1 H5R—iE EREE R
[A&4£] 1 7 :400,000  ~ 2 3#&:100,000 @ ~ 3 #&:60,000 ~ 43#&:40,000™ . 53 :20,000 @
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
— o . E3 . o 6 _ S =
1717|777 UX4 # 6 | KRS s 6-6-6-5 | 39.0 1 (5038) fgg( 50
R:TSAT7LX84L B:HI5TUT7— BEBS
= S 8 :32. 5-5- 5| — NBES (&)
9 4 24 LT 59 R 4 8 an 1(322)8 5-5-5-6 | 39.5 3 (4:353) S
LA TAT v — B2 ALINYLT (B) #AEIA-FKL—Ya>AET7
Akt : —1-1- — HE= (5%
3 S| IRTATEYY i 6 an 1(.13/22.>9 1-1-1-1 | 40.1 7 z:g()) .
a4 %Y v ML BNUEZ— EEHTT— L
O L[l E=GIN :33. =3-3- . - TIEHES (BH)
s 5| O=LILRLY = 4 6 e 1(13/32)0 4-3-3-2 | 40.0 4 31‘3 S
RN=Y7514 B:7+—<LF7TA-NI )| B4i5
, . LEFE : 44~ - EiEEE (S5
5011 X7Yy bEaLK o 54.0 1'(313)'2 Sramand 40 o :1+516) BRI )
¥y H/xEF BT -2R/T-0 ZAKIS
5 7 a AR 33, -9~ 3| - HEEX (BH)
6 6| IEINITFEY I 5.0 1(13/32)3 2228|403 2 f;) W;?z#i
L4/ vTe BOAXELTY B He #z
. - MBS A : —7-7- - MEE (EH)
715l 5|71 —n¥t-n35 4 5 o 1.(3;).6 7-7-7-7 | 39.3 5 <4_636) masE
T2 4 B:T74—HFaLr b Ratie]
o So. [© o9 | KiEHHES = = = = 8 490 | RAIMFET] (FH)
R:O-S XA 41 B: 4444 Fa/5> AXEY1-T7—L
® I —F—@EBIERL
13=zr= 2,6,1,3,4,7,5
Aol=5r= 2,6,3,1,4,7,5
BEE 2,6,3,1,4,7,5
43—+ — 2,3,6,1,7,4,5
[ F/N=5
B OB 7 1704 714K 4-7 180H B E 4-7 340M &R 2-4-7 9,820
8 B 7 120/ 2-7 3,490 B H 7-4 520 JEH 7-4-2 19,780H
4 150/ 2-4 5,020
2 840M

ABICOVWTRDTEEERROODE. TR LIV,




